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1 TP9

1.1 Exercice 1

class TP9{
// Q1
public static String nomDuMois(int numero){
String[] nomDesMois = {"janvier”,6 "février”, "mars"”,"avril”, "mai”,"juin",

"juillet"”,"ao(t","septembre”,"octobre”, "novembre”,"décembre"};
return nomDesMois[numero-1];

}

// Q2

public static String dateVersString(int[] date){
String dateString = String.valueOf(date[0])+" ";
dateString+= nomDuMois(date[1])+" ";
dateString+=date[2];
return dateString;

}

// Q3
public static boolean estBissextile(int annee){
boolean bissextile=false;
if((annee % 4 == 0) && (annee % 100 != 0) || (annee % 400 == 0)){
bissextile =true;

else{
bissextile=false;
}
return bissextile;
}
// Q4

public static int nbJoursDansMois(int mois,int annee) {
int [] longueurMois={31,28,31,30,31,30,31,31,30,31,30,31};
int nbJours =0;
if(mois!=2 || (mois==2 && !estBissextile(annee))){
nbJours = longueurMois[mois-11;

telse{
if(estBissextile(annee)){
nbJours=29;
3
}
return nbJours;
3
// Q5

public static int[] jourSuivant(int[] date) {
int jour = date[0];
int mois = date[1];
int annee = date[2];
int [] jourSuivant = new int[3];



49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
7
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
9%
97
98
99

100

101

102

103

104

105

106

107

108

109

110

111

112

113

114

115

116

if (jour<nbJoursDansMois(mois, annee)){
// cas classique
jourSuivant[0]=jour+1;
jourSuivant[1]=mois;
jourSuivant[2]=annee;
telse{
if(mois!=12){
jourSuivant[0]=1;
jourSuivant[1]=mois+1;
jourSuivant[2]=annee;
}else{// on change d'année
jourSuivant[0]=T1;
jourSuivant[1]=1;
jourSuivant[2]=annee+1;
3
3
return jourSuivant;

}

// Q6
public static void calendrierAnnee(int annee){
int [] debut = {1,1,annee};
int [] date = debut;
do{
Terminal.ecrireStringln(dateVersString(date));
date=jourSuivant(date);
Jwhile(! (date[0]==1 && date[1]1==1));
// on attend d'étre revenu a un ler janvier pour s'arréter

}

public static void main(String[] args){
Terminal.ecrireStringln("Q1");
Terminal.ecrireStringln(nombuMois(1)); // janvier
Terminal.ecrireStringln(nombDuMois(2)); // fevrier

Terminal.ecrireStringln(”"\nQ2");

int[] datel = {25,5,2011};

int[] date2 = {29,2,2012}%;

int[] date3 {31,12,2014%;

int[] date4 = {28,2,2012};

int[] date5 = {28,2,2014}%;
Terminal.ecrireStringln(dateVersString(datel)); // 25 mai 2011

Terminal.ecrireStringln(”"\nQ3");

Terminal.ecrireString("Est-ce que "+2011+" est bissextile ? Réponse : ");
Terminal.ecrireBooleanln(estBissextile(2011));
Terminal.ecrireString("Est-ce que "+2012+" est bissextile ? Réponse : ");
Terminal.ecrireBooleanln(estBissextile(2012));
Terminal.ecrireString("Est-ce que "+2000+" est bissextile ? Réponse : ");
Terminal.ecrireBooleanln(estBissextile(2000));
Terminal.ecrireString("Est-ce que "+1900+" est bissextile ? Réponse : ");

Terminal.ecrireBooleanln(estBissextile(1900));

Terminal.ecrireStringln("\nQ4");

Terminal.ecrireString(”Nombre de jours en "+nomDuMois(datel[1])+" "+datel[2]+"
Terminal.ecrireIntln(nbJoursDansMois(datel1[1],date1[2]));
Terminal.ecrireString(”"Nombre de jours en "+nomDuMois(date2[1])+" "+date2[2]+"
Terminal.ecrireIntln(nbJoursDansMois(date2[1],date2[2]));
Terminal.ecrireString(”"Nombre de jours en "+nomDuMois(date3[1])+" "+date3[2]+"
Terminal.ecrireIntln(nbJoursDansMois(date3[1],date3[2]));

Terminal.ecrireStringln(”"\nQ5");

Terminal.ecrireString("”Jour suivant le "+dateVersString(datel)+" : ");
Terminal.ecrireStringln(dateVersString(jourSuivant(datel)));
Terminal.ecrireString(”Jour suivant le "+dateVersString(date2)+" : ");
Terminal.ecrireStringln(dateVersString(jourSuivant(date2)));
Terminal.ecrireString(”Jour suivant le "+dateVersString(date3)+" : ");

Terminal.ecrireStringln(dateVersString(jourSuivant(date3)));
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Terminal.ecrireString("”Jour suivant le "+dateVersString(date4)+" :

Terminal.ecrireStringln(dateVersString(jourSuivant(date4)));

Terminal.ecrireString("Jour suivant le "+dateVersString(date5)+" :

Terminal.ecrireStringln(dateVersString(jourSuivant(date5)));

Terminal.ecrireStringln("\nQ6");
calendrierAnnee(2012);
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